
PROFESSIONAL EXAMINATION BOARD
Police Constable Recruitment Test ­ 2016

4th August 2016, 12:00 PM
Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

Following are the three positions of a cube. / िनĀ घन की तीन 芤�犴Āथितया ंह⢶�

 

What is the name in the face opposite to the face having name NEAL? / NEAL
नाम के फलक के िवपरीत फलक पर 뛠�ा नाम ह?ै 

TOM

JIM

MEL

NONE

Correct Answer :­TOM 

2)

Question Stimulus :­

Ocean covers almost _______ of earth’s surface./ महासागर का प⠮ृĀी की सतह पर लगभग _____ आवरण ह।ै

50%



70%

90%

95%

Correct Answer :­70% 

3)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकĀيخ चिुनए
जो िदए गए कथनो ंएव ंिन屩Āष犸� के बारे म蒴� सही ह।ै

Statements:  / कथन:

All batsmen are cricketers  /  सभी ब䡚Āबेाज ि갠�केटर ह⢶�

No cricketer is bowler  /  कोई ि갠�केटर ग蒴�दबाज नही ंहै

Conclusions:  /  िन屩Āष檰�:

I. No batsman is bowler / I.  कोई ब䡚Āबेाज ग蒴�दबाज़ नही ंहै

II. All cricketers are batsmen / II. सभी ि갠�केटर ब䡚Āबेाज ह⢶�

Only conclusion I follows / केवल िन屩Āष檰� I िनकलता है

Only conclusion II follows / केवल िन屩Āष檰� II िनकलता है

Both conclusion I and II follows / दोनो ंिन屩Āष檰� I और II िनकलत ेह⢶�

None of the conclusion I or II follows / िन屩Āष檰� I या II म蒴� स ेकोई नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िन屩Āष檰� I िनकलता ह ै

4)

Question Stimulus :­

select the option that is true about the Statements and Conclusions given: / वह िवकĀيخ चिुनए
जो िदए गए कथनो ंएव ंिन屩Āष犸� के बारे म蒴� सही ह।ै

Statements:  / कथन:

All planets are stars  /  सभी ᫅�ह तारे ह⢶�

Some stones are planets  /  कुछ पᐥĀर ᫅�ह ह⢶�

Conclusions: / िन屩Āष檰�:



I. Some stones are stars / I.  कुछ पᐥĀर तारे ह⢶�

II. Some stones are not stars / II.  कुछ पᐥĀर िसतारे नही ंह⢶�

Only conclusion I follows / केवल िन屩Āष檰� I िनकलता है

Only conclusion II follows / केवल िन屩Āष檰� II िनकलता है

Both conclusion I and II follows / दोनो ंिन屩Āष檰� I और II िनकलत ेह⢶�

None of the conclusion I or II follows / िन屩Āष檰� I या II म蒴� स ेकोई नही ंिनकलता है

Correct Answer :­Only conclusion I follows / केवल िन屩Āष檰� I िनकलता ह ै

5)

Question Stimulus :­

Sam ranked ninth from the top and thirty eighth from the bottom in a class. How many
students are there in the class? / समै क츰�ा म蒴� ऊपर स ेनौव蒴� 犴Āथान पर और एक न◌ीच ेस ेअड़तीस 犴Āथान पर रहा।
क츰�ा म蒴� िकतन ेछा⻊� ह⢶�?

45

46

47

48

Correct Answer :­46 

6)

Question Stimulus :­

Which of the following belongs to the same family as Lock, Shut and Fasten? / िनĀ म蒴� स ेकौन स ेउसी प캣�रवार से
सबंोिधत ह⢶� िजनस ेिक ताला लगाना, बदं करना और कसना?

Window / 芤�खड़की

Door / दरवाज़ा

Block / रोकना

Iron / लोहा

Correct Answer :­Block / रोकना 

7)



Question Stimulus :­

Maximum number of Anglo Indians who can be nominated by President of India in Lok Sabha is ____. / भारत के
रा豩Ā㪱�पित 揠ကारा नािमत लोकसभा म蒴� एं賰�ो भारतीयो ंकी अिधकतम स勫ं�ा ह_ै_।

2

5

1

10

Correct Answer :­2 

8)

Question Stimulus :­

First Muslim president of the Indian National Congress was / भारतीय रा豩Ā㪱�ीय का᫅ँ�से के �थम मसुलमान अ鹄Ā츰� थे

Baddruddin Tyabji / बद��Āीन तयैबजी

Mohammad Ali Jinnah / महु鹔Āद अली िजꉇĀाह

J L Nehru / ज ेएल नहे�

Ghulam Hussain / गलुाम �सनै

Correct Answer :­Baddruddin Tyabji / बद��Āीन तयैबजी 

9)

Question Stimulus :­

1. Six flats on a floor in two rows facing north and south are allotted to P, Q, R, S, T and U.
/ 1. एक मिंजल पर उᐣĀर और दि츰�ण की ओर वाली दो प芤ं�ꛟ�यो ंके छः Āलटै P,Q,R,S,T और U म蒴� आबिंटत िकए गय ेह⢶�।

2. Q gets a north facing flat and is not next to S. / 2. Q को उᐣĀर की ओर का Āलटै िमला, और S के बगल
म蒴� नही ंह।ै

3. S and U get diagonally opposite flats. / 3. S और U को िवकण檰�त: स鹔Āखु Āलटै िमल।े

4. R next to U gets a south facing flat and T gets north facing flat. /4.  R जो U के बगल म蒴� ह,ै को
दि츰�ण िदशा की ओर का Āलटै िमला और T को उᐣĀर की ओर वाला Āलटै िमला।

 

If the flat of T and P are interchanged, whose flat will be next to that U? / अगर T और P के
Āलटै बदल िदए जात ेह⢶� तो, िकसका Āलटै U के बगल म蒴� होगा? 



P

Q

R

T

Correct Answer :­R 

10)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकĀيخ
चिुनए,जो तक檰� की 䂎Āि豩Ā स ेनीच ेिदए गए कथन के समान ह:ै

If I go to movie, then I will drink cool drink. / अगर म⢶� िफᡚĀ जाता 竀�,ँ  तो म⢶� ठंडा पये िपयूंगा।

I go to movie, I drink cool drink / म⢶� िफᡚĀ जाता 竀�,ँ म⢶� ठंडा पये पीता 竀�।ँ

If I don’t go to movie, then I don’t drink cool drink / अगर म⢶� िफᡚĀ नही ंजाता 竀�,ँ तो म⢶� ठंडा
पये नही ंपीता 竀�ँ

If I don’t drink cool drink, then I don’t go to movie / अगर म⢶� ठंडा पये नही ंपीता 竀�,ँ तो म⢶� िफᡚĀ
नही ंजाता 竀�।ँ

If I drink cool drink, then I go to movie / अगर म⢶� ठंडा पये पीता 竀�,ँ तो म⢶� िफᡚĀ जाता 竀�।ँ

Correct Answer :­If I don’t drink cool drink, then I don’t go to movie / अगर म⢶� ठंडा पये नहीं
पीता 竀�,ँ तो म⢶� िफᡚĀ नही ंजाता 竀�।ँ 

11)

Question Stimulus :­

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which
gives the correct order of the letters as indicated by the numbers to form meaningful word.
/ श詎Āो ंके अ☠ကव芤�犴Āथत अ츰�र नीच ेिदय ेगय ेह⢶�| �萩Āके अ츰�र को स勫ं�ािकत िकया गया ह|ै वह िवकĀيخ चिुनय ेजो साथ檰�क श詎Ā
की रचना के िलय ेस勫ं�ाओ ंके �प म蒴� अ츰�रो ंका सही 갠�म दतेा ह|ै

 
A E H R G N  

 
1 2 3 4 5 6
 

3,1,6,5,2,4



4,1,5,3,2,6

5,3,1,4,2,6

6,1,5,3,4,2

Correct Answer :­3,1,6,5,2,4 

12)

Question Stimulus :­

Madhya Pradesh Agency for Promotion of Information Technology is known as / सचूना �ौ堻Āोिगकी को बढ़ावा दनेे
के िलए म鹄Ā �दशे एज蒴�सी को इस �प म蒴� जाना जाता ह:ै

MAP_IT

MPA_PIT

MP_IT

MP_PIT

Correct Answer :­MAP_IT 

13)

Question Stimulus :­

Who was the first woman to be awarded the Bharat Ratna? / भारत र鰦Ā स ेस鹔Āािनत पहली मिहला कौन थी?ं

Aruna Asaf Ali / अ䮠�णा असफ अली

MS Subbulakshmi / एमएस स䔀ुကलु꣤�ी

Indira Gandhi / इिंदरा गाधँी

Mother Teresa / मदर टरेेसा

Correct Answer :­Indira Gandhi / इिंदरा गाधँी 

14)

Question Stimulus :­

The chairman of the Bharthi group is / भारती समहू के अ鹄Ā츰� ह⢶�:

Sunil Mittal / सनुील िमᐣĀल

Laxmi Mittal / ल꣤�ी िमᐣĀल



Gopal Mittal / गोपाल िमᐣĀल

Ravi Ruia / रिव 䮠�इया

Correct Answer :­Sunil Mittal / सनुील िमᐣĀल 

15)

Question Stimulus :­

Which one of these is not a category of Public debt of Union Government of India? / इनम蒴� स ेकौन सा भारत की क蒴��
सरकार के साव檰�जिनक ऋण का एक वग檰� नही ंह?ै

Internal Debt / आतं캣�रक ऋण

External Debt / िवदशेी ऋण

Other Liabilities / अ撠က दयेताएं

Bad debt / बरुा ऋण

Correct Answer :­Bad debt / बरुा ऋण 

16)

Question Stimulus :­

Who had the longest tenure as speaker of Lok Sabha? / िकनका लोक सभा के अ鹄Ā츰� के �प म蒴� सबस ेलबंा काय檰�काल
था?

Balram Jakhar / बलराम जाखड़

G.S.Dhillon / जी एस िढ䡚Āों

G.V.Moulankar / जी वी मावलकंर

P.A.Sangma / पी ए सगंमा

Correct Answer :­Balram Jakhar / बलराम जाखड़ 

17)

Question Stimulus :­

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the
third term. / िनĀ �扤Ā म蒴�, पहल ेतो पदो ंके बीच िकसी �कार स ेकोई सबंधं ह|ै िनĀ िवकĀيخो ंम蒴� स ेचौथा पद चिुनये
िजसका तीसरे पद के साथ उसी �कार का सबंधं ह|ै

PNLJ : IGEC :: VTRP : ?



QOMK

RSTU

QSRC

RPOM

Correct Answer :­QOMK 

18)

Question Stimulus :­

Pandit Jasraj sings in this style of music / पिंडत जसराज सगंीत की इस शलैी म蒴� गात ेह⢶�:

Hindustani / िह슣Āदु湯Āानी

Dhrupad / 頻�पुद

Thumri / ठुमरी

Carnatic / कना檰�टक

Correct Answer :­Hindustani / िह슣Āदु湯Āानी 

19)

Question Stimulus :­

SEBI was established in _______./ ‘सबेी’ ______म蒴� 犴Āथािपत िकया गया था।

1993

1992

1988

1990

Correct Answer :­1988 

20)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकĀيخ
चिुनए,जो तक檰� की 䂎Āि豩Ā स ेनीच ेिदए गए कथन के समान ह ै:

If it is a fruit, then it is not a vegetable. / अगर यह एक फल ह,ै तो यह एक स㩎Āी नही ंह।ै



If it not a fruit, then it is not a vegetable. / अगर यह एक फल नही ंह,ै तो यह एक स㩎Āी नही ंह।ै

If it is not a fruit, then it is a vegetable. / अगर यह एक फल नही ंह,ै तो यह एक स㩎Āी ह।ै

If it not a vegetable, then it is a fruit. / अगर यह एक स㩎Āी नही ंह,ै तो यह एक फल ह।ै

If it is a vegetable, then it is not a fruit. / अगर यह एक स㩎Āी ह,ै तो यह एक फल नही ंह।ै

Correct Answer :­If it is a vegetable, then it is not a fruit. / अगर यह एक स㩎Āी ह,ै तो यह एक
फल नही ंह।ै 

21)

Question Stimulus :­

Who succeeded Morarji Desai as the Prime Minister of India? / मोरारजी दसेाई के बाद भारत के �धानम⻊ं�ी कौन बन蒴�?

Indira Gandhi / इिंदरा गाधंी

Rajiv Gandhi / राजीव गाधंी

Charan Singh  / चरण िसहं

None of the above / उपरोꛟ� म蒴� स ेकोई नही।ं

Correct Answer :­Charan Singh  / चरण िसहं 

22)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकĀيخ चिुनए
जो िदए गए कथनो ंएव ंिन屩Āष犸� के बारे म蒴� सही ह।ै

Statements:  / कथन:

No spoons are plates.  /  कोई च鹔Āच ⓐကटे蒴� नही ंह⢶�।

All forks are spoons.  /  सभी काटं ेच鹔Āच ह⢶�।

Conclusions:  /  िन屩Āष檰�:

I.  No forks are plates.  / I.  कोई काटं ेⓐကटे蒴� नही ंह⢶�।

II. Some spoons are plates /  II. कुछ च鹔Āच ⓐကटे蒴� ह⢶�।

Only conclusion II follows / केवल िन屩Āष檰� II िनकलता है

Both conclusion I and II follows / दोनो ंिन屩Āष檰� I और II िनकलत ेह⢶�

None of the conclusion I or II follows / िन屩Āष檰� I या II म蒴� स ेकोई नही ंिनकलता है



Only conclusion I follows / केवल िन屩Āष檰� I िनकलता है

Correct Answer :­Only conclusion I follows / केवल िन屩Āष檰� I िनकलता ह ै

23)

Question Stimulus :­

Assam is also known as ___./ असम __के �प म蒴� भी जाना जाता ह।ै

Land of red river and blue hills. / लाल नदी और नील ेरंग की पहािड़यो ंकी भिूम।

Automobile capital of India / भारत की ऑटोमोबाइल राजधानी।

Steel city of India / भारत के 噯Āील का शहर।

City of letters / प⻊�ो ंका शहर।

Correct Answer :­Land of red river and blue hills. / लाल नदी और नील ेरंग की पहािड़यो ंकी भिूम। 

24)

Question Stimulus :­

In column I are listed certain groups of individuals while in column II are listed some of
the characteristics against each group of individuals which are common to each member of
that group. / 湯Āभं I िविश豩Ā ☠က芤�ꛟ�गत समहूो ंको सिूचत करता ह,ैजब िक 湯Āभं II हर ☠က芤�ꛟ�यो ंके समहू कुछ
िवशषेताओ ंको सिूचत करता ह ैजो उस समहू के हर एक सदĀ के िलए सामा撠က ह।ै   

Which characteristics are not found either in F or in L or in both? / F या L म蒴� या दोनो म蒴� ऐसी कौन
सी िवशषेताएँ नही ंपायी जाती ह⢶�?

Q

S

U

V



Correct Answer :­V 

25)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकĀيخ
चिुनए,जो तक檰� की 䂎Āि豩Ā स ेनीच ेिदए गए कथन के समान ह ै:

If you practice, then you can sing well. / अगर आप अ陒Āास कर蒴�, तो आप अ替�ा गा सकत ेह⢶�।

If you do not practice, then you cannot sing well. / अगर आप अ陒Āास नही ंकरत ेह⢶�, तो आप
अ替�ा नही ंगा सकत ेह⢶�।

If you cannot sing well, then you didn’t practice. / अगर आप अ替�ा नही ंगा सकत ेह⢶�, तो आपने
अ陒Āास नही ंिकया।

If you sing well, then you must have practiced. / अगर आप अ替�ा गात ेह⢶�, तो आपन ेज�र
अ陒Āास िकया होगा।

None of the above / उपरोꛟ� कोई नहीं

Correct Answer :­If you cannot sing well, then you didn’t practice. / अगर आप अ替�ा नही ंगा
सकत ेह⢶�, तो आपन ेअ陒Āास नही ंिकया। 

26)

Question Stimulus :­

Who began the Lingayat movement in Karnataka? / कना檰�टका म蒴� िलगंायत आĀोलन िकसन ेशु� िकया था?

Pampa / पĀ

Basavanna / बसवꉇĀा

Rana / राणा

Kuvempu / कुवेĀु

Correct Answer :­Basavanna / बसवꉇĀा 

27)

Question Stimulus :­

A and B are planning to meet each other after office. A can leave office between 5:30 to
6:00 while B can leave office only after 6:00. A takes 1 hour by bus or 30 mins by cab to
reach the meeting point whereas B takes 30 min by bus and 15 min by cab to reach the
same. / A और B काया檰�लय के बाद एक दूसरे स ेिमलन ेकी योजना बना रह ेह⢶�। A 6:00 और 5:30 बज ेके बीच काया檰�लय
छोड़ सकता ह ैजबिक B केवल 6:00 बज ेके बाद काया檰�लय छोड़ सकता ह।ै A को गतं☠က 犴Āथान तक बस स ेप�चंन ेम蒴� 1 घटंा
लगता ह ैया 30 िमनट टै�ी स ेलगत ेह⢶� जबिक B को 30 िमनट बस स ेऔर 15िमनट टै�ी स ेलगत ेह⢶�।



B knows that A will leave at 6 but doesn’t know which conveyance he would be taking. How late can B start from office and
which conveyance should he take such that he minimizes on his travel ᜀ꼄me and yet is not late? / B जानता ह ैकी A 6 बजे
काया檰�लय स ेिनकल जायगेा लिेकन िकस वाहन का उपयोग करेगा य ेउसको पता नही ंह।ै B िकतनी दरे स ेकाया檰�लय स ेिनकल
सकता ह ैऔर उस ेकौन सा वाहन लनेा चािहए िक उसकी या⻊�ा का समय 撠ကनूतम हो और वह दरे स ेभी न प�चं?े

6:00, Bus / 6:00, बस

6:00, Cab / 6:00, टै�ी

6:15, Bus / 6:15, बस

6:15, Cab / 6:15, टै�ी

Correct Answer :­6:15, Cab / 6:15, टै�ी 

28)

Question Stimulus :­

Which is the highest peak of Madhya Pradesh? / म鹄Ā �दशे की सबस ेऊँची चोटी कौन सी ह?ै

Dhoopgarh / धपूगढ़

Pachmarhi / पचमढ़ी

Bhimbetka / भीमबतेका

Chauragarh / चौरागढ़

Correct Answer :­Dhoopgarh / धपूगढ़ 

29)

Question Stimulus :­

Pre­historic painted rock shelters at Sita Khardi are located in____./ सीता खरदी पर पवू檰� ऐितहािसक िचि⻊�त रॉक
आზ�य _____ म蒴� 芤�犴Āथत ह⢶�।

Talpura / तालपरुा

Bhanpur / भानपरु

Undasa / उडंासा

Bhairgarh / बरैागढ़

Correct Answer :­Bhanpur / भानपरु 

30)



Question Stimulus :­

The Kalidas Academy is located at_______________? / कािलदास अकादमी _______________ म蒴� 芤�犴Āथत ह?ै

Umaria / उम캣�रया

Gwalior / ꓰ�ािलयर

Indore / इदंौर

Ujjain / उᰃĀनै

Correct Answer :­Ujjain / उᰃĀनै 

31)

Question Stimulus :­

The Indian Consᜀ꼄tuᜀ꼄on was draᤀᘅed by / भारतीय सिंवधान इसके 揠ကारा तयैार िकया गया था

The Parliament / ससंद

The Consᜀ꼄tuent Assembly / सिंवधान सभा

The Congress Party / का᫅ं�से पाट㲲�

The Briᜀ꼄sh Government / ि𢡄�िटश सरकार

Correct Answer :­The Consᜀ꼄tuent Assembly / सिंवधान सभा 

32)

Question Stimulus :­

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I will
have acidity. I have acidity so the bread was not toasted. / यिद 𢡄�डे को टो噯Ā िकया जाता ह ैऔर उस
पर मयेोनज़े लगाया जाता ह ैतो या तो म⢶� भखूा रह जाऊंगा या मझु ेएिसिडटी हो जायगेी। मझु ेएिसिडटी ह ैइसिलए 𢡄�डे को टो噯Ā
नही ंिकया गया था।

True / सही

False / गलत

Maybe / हो सकता है

Irrelevant / अ�ासिंगक

Correct Answer :­Maybe / हो सकता ह ै

33)



Question Stimulus :­

If Saddu says, “Kannu’s father Rambo is the only son of my father‐in‐law, Mithu,” then who is Lappu, who is the sister of
Kannu, related to Mithu? / यिद सद्दु कहता ह ै"कꉇĀ ूके िपता रेṔĀो मरेे ससरु जी िमथ ुके इकलौत ेबटे ेह⢶�,” तो िफर लꉌĀ ूकौन ह,ै जो
कꉇĀ ूकी बहन ह,ै जो िमथ ुस ेसṔĀिंधत ह?ै

Niece / भतीजी

Wife / प鰦Āी

Daughter‐in‐law / ब竀�

Granddaughter / पोती

Correct Answer :­Granddaughter / पोती 

34)

Question Stimulus :­

Ashok ranks 7th in the class of 16. Find out his rank from the last. / 16 छा⻊�ो ंकी क츰�ा म蒴� अशोक को
7वी ंზ�णेी �ा鱋Ā �ई। अिंतम स ेउसकी ზ�णेी िनकाल।े

11th / 11वीं

10th / 10वीं

12th / 12वीं

8th / 8वीं

Correct Answer :­10th / 10वी ं

35)

Question Stimulus :­

What is the day on 31st October 2008? / 31 अ盟�बर 2008 को कौन सा िदन ह?ै

Friday / श갠�वार

Tuesday / मगंलवार

Wednesday / बधुवार

Thursday / ग䮠ु�वार

Correct Answer :­Friday / श갠�वार 

36)



Question Stimulus :­

In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out. / िनĀ �扤Ā म蒴�, कुछ श詎Āो ंके
समहू िदय ेगय ेह⢶�, जो सभी, केवल एक को छोड़कर, समान ह⢶� जबिक एक अलग ह|ै िवषम वाल ेको चिुनय े|

DE

PQ

TU

MO

Correct Answer :­MO 

37)

Question Stimulus :­

Six persons A,B,C,D,E and F were playing a card game. A’s father, mother and uncle were
in the group. There were two females. B, the mother of A got more points than her
husband. D got more points in the game than E but less than F. Niece of E got the lowest
points. Father of A got more points than F but still could not win the game. / छह ☠က芤�ꛟ�
A,B,C,D,E और F एक ताश का खले खले रह ेथ।े समहू म蒴� A के िपता, माता और चाचा थ।े दो मिहलाएं थी। B, A की माता
को अपन ेपित स ेदो अकं अिधक �ा鱋Ā �ए। खले म蒴� D को E स ेअिधक पर F स ेकम अकं �ा鱋Ā �ए। E की भाजंी को सबसे
कम अकं �ा鱋Ā �ए। A के िपता को F स ेअिधक अकं �ा鱋Ā �ए पर िफर भी वह खले नही ंजीत पाय।े

Who is the lady in the group other than ‘B’? / समहू म蒴� ‘B’ के अलावा 鹯Āी कौन ह?ै

C

D

E

None of these / इनम蒴� स ेकोई नहीं

Correct Answer :­None of these / इनम蒴� स ेकोई नही ं

38)

Question Stimulus :­

He was the son of Shivaji / य ेिशवाजी के प⻊ु� थ।े

Sambhaji / स湔Āाजी

Rajaram / राजाराम

Shahu / शा竀�



Tarabai / ताराबाई

Correct Answer :­Sambhaji / स湔Āाजी 

39)

Question Stimulus :­

Which is the animal that does not fear tigers and found in almost all the sanctuaries and reserves of Madhya
Pradesh? / कौन सा ह ैजानवर ह ैिजस ेबाघो ंका डर नही ंह ैऔर लगभग और म鹄Ā �दशे के सभी अभयार倜Āो ंऔर 캣�रज़व檰�
म蒴� पाया जाता ह?ै

Sloth Bear / आलसी भालू

Chintals / िचतंलस

Gaur / गौर

Barasinga / बारिसघंा

Correct Answer :­Gaur / गौर 

40)

Question Stimulus :­

The National Commission for Women was set up as statutory body in the year_______.  /
सािंविधक �ािधकरण के �प म蒴� रा�Ā ट㪱�ीय मिहला आयोग की 犴Ā थापना _______ वष檰� म蒴� की गई थी।

1992

1990

1973

1975

Correct Answer :­1992 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­

If CARTON is coded as DBSSNM, which of the following means WASTED?  / यिद CARTON को
सकंेत म蒴� DBSSNM िलखा जाता ह ैतो िनĀ म蒴� िकसका अथ檰� WASTED ह?ै

XBTUPO

VZRSDC



XBTVFE

XBTSDC

Correct Answer :­XBTSDC 

2)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong
term. / िनĀ �扤Ā म蒴�, स勫ं�ा ზ�खंला म蒴� एक पद गलत ह|ै गलत पद 鐃Āात कीिजय|े

27,22,17,11,7,2

17

11

22

2

Correct Answer :­11 

3)

Question Stimulus :­

If NAKED is coded as 84123 and MISTAKE is coded as 9765412, What is the
code for INTIMATE? /  यिद NAKED को 84123 स ेकोिडत िकया जाता ह ैऔर MISTAKE को 9765412
स ेकोिडत िकया जाता ह,ै तो INTIMATE के िलय े뛠�ा कोड होगा?

77432165

67688341

78579452

89687563

Correct Answer :­78579452 

4)

Question Stimulus :­

What is the average of first 15 multiples of 12? / 12 के पहल े15 ब�गणुो ंका औसत 뛠�ा ह?ै

98



100

96

94

Correct Answer :­96 

5)

Question Stimulus :­

Complete the series choosing the missing leᜀ䀅er/s: / िवल鱋ुĀ अ츰�र चनुकर ზ�खंला को परूा कीिजए : abc _ a _ bcb _ abc _ c

abcc

abbc

aabc

abca

Correct Answer :­aabc 

6)

Question Stimulus :­

The value of M in equation ­m=6 is / समीकरण ­m=6 म蒴� M का मान है

1,3

2,1

3,­2

1,­1

Correct Answer :­3,­2 

7)

Question Stimulus :­

A circular field with circumference 722 meters. Two persons start from the same point and walk in opposite direcᜀ꼄ons at 4.5
km/hr and 5 km/hr respecᜀ꼄vely. They will meet for the first ᜀ꼄me in/ एक वᐣृĀाकार मदैान िजसकी प캣�रिध 722 मीटर ह।ै दो
☠က芤�ꛟ� एक ही िबदं ुस ेश䮠ु�आत करत े�ए िवपरीत िदशाओ ंम蒴� 갠�मश: 4.5 िकमी/घटंा और 5 िकमी/घटंा की गित स ेचलत ेह⢶�। वे
पहली बार िकतन ेसमय म蒴� िमल蒴�गे

4.56min/ 4.56 िमनट



4. 30 min/ 4. 30 िमनट

4.84 min/ 4.84 िमनट

4. 62 min/ 4. 62 िमनट

Correct Answer :­4.56min/ 4.56 िमनट 

8)

Question Stimulus :­

A shopkeeper allows a discount of 12.5% on the marked price of a shirt & makes a profit of 20%. If the
shirt costs Rs. 420 to the shopkeeper. What price should be marked on the shirt? / एक दकुानदार एक शट檰� के
िचि�Āत कीमत पर 12.5% की छूट की अनमुित दतेा ह ैऔर 20% का लाभ बनाता ह।ै शट檰� का लागत मずूĀ 420 䮠�पए ह⢶� तो शट檰� का
िचि�Āत मずूĀ 뛠�ा होना चािहए?

Rs.676 / �पए 676

Rs.476 / �पए 476

Rs.376 / �पए 376

Rs.576 / �पए 576

Correct Answer :­Rs.576 / �पए 576 

9)

Question Stimulus :­

How many triangles are there in the following figure? / िनĀ आकृित म蒴� िकतन ेि⻊�कोण ह⢶�?

 

4

5



6

7

Correct Answer :­6 

10)

Question Stimulus :­

A is thrice as good a workman as B and together they finish a work in 18 days. In how many days will A
alone finish the work? / A, B स ेतीन गनुा बहेतर कारीगर ह ैऔर व ेसाथ काम को 18 िदनो ंम蒴� परूा करत ेह⢶�। A अकेले
उस काम को िकतन ेिदनो ंम蒴� परूा करेगा?

18 days / 18 िदन

20 days / 20 िदन

24 days / 24 िदन

26 days / 26 िदन

Correct Answer :­24 days / 24 िदन 

11)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िनĀ िदय蒴� गय ेचार पतो ंम蒴� स ेनीच ेिदय ेगय ेपत ेके ठीक समान कौन सा एक नही ंह?ै   

 

Paul Brooks' Galice Raft Trips

12221 Galice Road

P.O. Box 638

Merlin Oregon 97532

(503) 476­8051

 

(i) Paul Brooks' Galice Raft Trips

12221 Galice Road

P.O. Box 638

Merlin Oregon 97532

(503) 476­8051



 

(ii) Paul Brooks' Galice Raft Trips

12221 Galice Road

P.O. Box 638

Merlin Oregon 97532

(503) 476­8051

 

(iii) Paul Brooks' Galice Raft Trips

12221 Galice Road

P.O. Box 638

Merlin Oregan 97532

(503) 476­8051

 

(iv) Paul Brooks' Galice Raft Trips

12221 Galice Road

P.O. Box 638

Merlin Oregon 97532             

(503) 476­8051

i

ii

iii

iv

Correct Answer :­iii 

12)

Question Stimulus :­

If   of an estate is worth Rs 42000, find the worth of whole estate. Also; find the Value of

 of it? / यिद एक सपंदा के भाग की कीमत  42000 �पय ेह,ै तब परूी सपंदा की कीमत िनकािलए| और; उसके



भाग की कीमत िनकािलए |   

22500

21500

19500

18500

Correct Answer :­22500 

13)

Question Stimulus :­

There are three alternatives for the following question. Find out the correct one. / िनĀ �扤Ā के
िलए तीन िवकĀيخ ह⢶�| सही वाला चिुनए|

i. ‘Tom Kun Sud’ means ‘Dogs are barking’ / ‘Tom Kun Sud’ का मतलब ह ै‘Dogs are barking’

ii. ‘Kun Jo Mop’ means ‘Dogs and Horses’ / ‘Kun Jo Mop’ का मतलब ह ै‘Dogs and Horses’

iii. ‘Mut Tom Ko’ means ‘Donkeys are mad’ / ‘Mut Tom Ko’ का मतलब ह ै‘Donkeys are mad’

        Which of the following encryptions is used for ‘barking’? / िनĀ म蒴� स ेकौन स ए芤�슣Ā갠�पशन
‘barking’के िलए �योग �आ ह?ै

Ko

Kum

Sud

Tom

Correct Answer :­Sud 

14)

Question Stimulus :­

The average age of five girls is 11. The oldest among them is 15 years old. What is the average age of the others? / पाचँ
लड़िकयो ंकी औसत उ㫓� 11 वष檰� ह|ै उनम ेस ेसबस ेबड़ी लड़की की उ㫓� 15 वष檰� ह|ै अ撠က लडिकयो ंकी औसत उ㫓� 뛠�ा ह?ै

12



4

10

9

Correct Answer :­10 

15)

Question Stimulus :­

{(396x4)/6‐444}+800/2=?

320

220

300

250

Correct Answer :­220 

16)

Question Stimulus :­

The salary of a person reduced by 20%. By what percent should his reduced salary be raised so as to bring his original
salary?/ एक ☠က芤�ꛟ� का वतेन 20% कम हो जाता ह।ै उसकी घट े�ए वतेन म蒴� िकतना �ितशत बढ़ाना होगा तािक वापस उसका
वतेन उतना ही हो जाय?े

25%

20%

15%

30%

Correct Answer :­25% 

17)

Question Stimulus :­

Complete the series choosing the missing letter/s: / िवल鱋ुĀ अ츰�र चनुकर ზ�खंला को परूा कीिजए :

b _ d bc  _  _ cd bc  _  _ cd



cdbbd

cdbdb

bdbdc

cddbb

Correct Answer :­cdbdb 

18)

Question Stimulus :­

Dilip buys a radio at   of its value & sells it for 20% more than its value. What is his

gain percent? / िदलीप एक रेिडयो खरीदता ह ैऔर उसके मずूĀ स े20% अिधक म蒴�  उस ेबचेता ह।ै उसका लाभ
�ितशत 뛠�ा ह?ै

20%

45%

60%

75%

Correct Answer :­60% 

19)

Question Stimulus :­

If p:q = 2:5 find the value of   / यिद p:q = 2:5 ह ैतो   का मान िनकािलए

10

8

11

12

Correct Answer :­11 



20)

Question Stimulus :­

The series given below contains a sequence of alphabets, numbers and symbols. Identify
the incorrect combination: / नीच ेदी गई ზ�खंला अ츰�रो ंएव ंस勫ं�ाओ ंका अन갠ु�म �योग करती ह|ै गलत सयंोजन
पहचािनय|े

 

(i) cjcd6jd5%d3w

(ii) cjcd6jd5%d3w

(iii) cjcd6jd5%d3w        

(iv) cjcd6id5%d3w

i

ii

iii

iv

Correct Answer :­iv 

21)

Question Stimulus :­

Complete the series choosing the missing number: / िवल鱋ुĀ स勫ं�ा चनुकर ზ�खंला को परूा कीिजए :

5, 11, 19, 29, ___

30

39

41

45

Correct Answer :­41 

22)

Question Stimulus :­

40% of the students passed in science, 50% of the students passed in English and 10% of the students passed in both, then



the percentage of failed students is/ 40% छा⻊� िव鐃Āान म蒴� उᐣĀीण檰� �ए, 50% छा⻊� अ᫅ं�ज़ेी म蒴� उᐣĀीण檰� �ए और 10% छा⻊�
दोनो ंम蒴� उᐣĀीण檰� �ए, तो अनᐣुĀीण檰� छा⻊�ो ंकी �ितशतता होगी

10%

15%

20%

25%

Correct Answer :­20% 

23)

Question Stimulus :­

What is the difference between one fourth of 200 and two fiᤀᘅh of 100? / 200 के एक चौथाई और 100 के दो पाचँव蒴� के
बीच का अतंर 뛠�ा ह?ै

10

12

21

7

Correct Answer :­10 

24)

Question Stimulus :­

Complete the series choosing the missing number: / िवल鱋ुĀ स勫ं�ा चनुकर ზ�खंला को परूा कीिजए :

1/2, 3/4, 5/8, 7/16, ____

9/32

9/18

14/32

9/20

Correct Answer :­9/32 

25)



Question Stimulus :­

A man is standing on a railway bridge which is 180 m long. He finds that a train crosses the bridge in 20 seconds but
himself in 8 sec. What is the length of the train?/ एक आदमी एक रेल पलु पर खड़ा ह,ै जो 180 मी लṔĀा ह।ै उसन ेपाया िक
ट㪱�न पलु को पार करन ेम蒴� 20 सकेंड और उस ेपार करन ेम蒴� 8 सकेंड लतेी ह।ै ट㪱�न की लṔĀाई 뛠�ा ह?ै

100 m/ 100 मी

120 m/ 120 मी

150 m/  150 मी

80 m/ 80 मी

Correct Answer :­120 m/ 120 मी 

26)

Question Stimulus :­

In a code, KNIVES is wriᜀ䀅en as KIENVS. How is OFFICE wriᜀ䀅en in that code? / एक सकंेत म蒴�, KNIVES को KIENVS िलखत ेह⢶�।
उसी सकंेत म蒴� OFFICE को कैस ेिलख蒴�ग?े

OFCFIE

OFCIFE 

OFECIE

FIEOFC

Correct Answer :­OFCFIE 

27)

Question Stimulus :­

Two dice are thrown simultaneously. What is the probability of geᜀ⠇ng prime numbers? / दो पास ेएक साथ फ蒴�के गए ह⢶�।
अभा耇Ā स勫ं�ा आन ेकी सभंावना 뛠�ा ह?ै

1/3

1/2

1/4

1/5

Correct Answer :­1/4 



28)

Question Stimulus :­

If n C10 = n C12 then n=?  / यिद n C10 = n C12  तो n=?

15

18

22

20

Correct Answer :­22 

29)

Question Stimulus :­

Complete the following sequence of figures. / आकृितयो ंके िनĀ 갠�म को परूा कीिजय:े\

Correct Answer :­  



30)

Question Stimulus :­

If ‘CENTURION’ is coded as 325791465, and ‘RANK’ as 18510, what will the figure 78510
represent? / यिद ‘CENTURION’ को 325791465 स ेकोिडत िकया जाता ह,ै और ‘RANK’ को 18510 स,े तो
स勫ं�ा 78510 뛠�ा दशा檰�एगी?

TANK

BANK

TAKE

SANK

Correct Answer :­TANK 

Topic:­ Science and Simple Arithmetic
1)

Question Stimulus :­

An example for an unisexual flower is / एकिलगंी फूल का एक उदाहरण है

Hibiscus / िहिब�Āस

Mustard / सरसों

Petunia / िपटूिनया

Papaya / पपीता

Correct Answer :­Papaya / पपीता 

2)

Question Stimulus :­

Shyamsunder has 5 factories A,B,C,D,E. The expense and income of all the factories is given in form of two pie charts as
follows. Depending upon the informaᜀ꼄on in the chart answer the following quesᜀ꼄on / ꁥĀामसुंदर के 5 कारखान蒴� ह।ै
A,B,C,D,E सभी कारखानो ंके खच檰� और आय दो पाई चाट檰� के �प म蒴� िदय ेगय ेह।ै चाट檰� म蒴� जानकारी के आधार पर
िनĀिल芤�खत �扤Ā का उᐣĀर द蒴�।



Total Expenses = 2,750 Cr. Rupees.

कुल खच檰� =2,750 करोड़ 䮠�

Total income = 3,450 Cr. Rupees

कुल आय = 3,450 करोड़ 䮠�

If arranged in ascending order of profit percentage, the company at 3rd rank will be / अगर लाभ �ितशत के आरोही
갠�म म蒴� ☠ကव芤�犴Āथत िकया जाय ेतो तीसरे 犴Āथान पर कौन सी कंपनी होगी?

E

D

A

C

Correct Answer :­A 

3)

Question Stimulus :­

David is observing his image in a plane mirror. The distance between the mirror and the image is 4m. If he moves 1m
towards the mirror, then the distance between David and his image will be / डिेवड समतल दप檰�ण म蒴� अपन े�ितिबबं का
अवलोकन कर रहा ह|ै दप檰�ण और �ितिबबं के बीच की दूरी 4m ह|ै यिद वह दप檰�ण की ओर 1m जाता ह,ै तो डिेवड
और उसके �ितिबबं के बीच की दूरी होगी ­

3m

5m

8m

6m

Correct Answer :­6m 



4)

Question Stimulus :­

Shyamsunder has 5 factories A,B,C,D,E. The expense and income of all the factories is given in form of two pie charts as
follows. Depending upon the informaᜀ꼄on in the chart answer the following quesᜀ꼄on / ꁥĀामसुंदर के 5 कारखान蒴� ह।ै
A,B,C,D,E सभी कारखानो ंके खच檰� और आय दो पाई चाट檰� के �प म蒴� िदय ेगय ेह।ै चाट檰� म蒴� जानकारी के आधार पर
िनĀिल芤�खत �扤Ā का उᐣĀर द蒴�।

Total Expenses = 2,750 Cr. Rupees.

कुल खच檰� =2,750 करोड़ 䮠�

Total income = 3,450 Cr. Rupees

कुल आय = 3,450 करोड़ 䮠�

Which company has the highest profit in terms of rupees? / कौन सी कंपनी को 䮠�पयो ंके मामल ेम蒴� सबस ेअिधक लाभ
�आ ह?ै

A

B

C

D

Correct Answer :­D 

5)

Question Stimulus :­

A bag marked at Rs. 80 is sold for Rs. 68.  The rate of discount is / 80 �पए अिंकत मずूĀ वाल ेएक
थलै ेको 60 䮠�पयो ंम蒴� बचेा जाता ह।ै छूट की दर ह:ै

20%

25%



15%

12%

Correct Answer :­15% 

6)

Question Stimulus :­

The raᜀ꼄o of two numbers is 3: 4 and their sum is 420. The greater of two numbers is: / दो स勫ं�ाओ ंका अनपुात 3:4
ह ैएव ंउनका योग 420 ह।ै दो स勫ं�ाओ ंम蒴� बड़ी स勫ं�ा ह:ै

200

315

240

175

Correct Answer :­240 

7)

Question Stimulus :­

If the force applied on the object is in the direcᜀ꼄on of its moᜀ꼄on, then / यिद व湯Ā ुपर लाग ूबल इसकी गित की िदशा
म蒴� ह,ै तो:

The speed of the object increases / व湯Ā ुकी गित को बढ़ाता है

The speed of the object decreases / व湯Ā ुकी गित को कम करता है

The speed of the object becomes zero / व湯Ā ुकी गित श撠ूက हो जाती है

The speed of the object remains constant / व湯Ā ुकी गित 芤�犴Āथर रहती है

Correct Answer :­The speed of the object increases / व湯Ā ुकी गित को बढ़ाता ह ै

8)

Question Stimulus :­

What kind of respiration takes place in Tape worms that live in the intestine of man? / मन◌ु陮Ā की आतंो ंम蒴� रहने
वाल ेटपे वाम檰� 揠ကारा िकस �कार का 瑧Āसन िलया जाता ह?ै

Aerobic respiration / वायवीय 瑧Āसन

Anaerobic respiration / अवायवीय 瑧Āसन



They respire only once in a way / व ेएक तरीके स ेबस एक बार 瑧Āसन करत ेह⢶�

They  do not respire / व े瑧Āसन नही ंकरत ेह⢶�

Correct Answer :­Anaerobic respiration / अवायवीय 瑧Āसन 

9)

Question Stimulus :­

Factorise   /   का गणुनखडं कीिजए

Correct Answer :­  

10)

Question Stimulus :­

The water holding capacity is highest in / जल को धारण करन ेकी 츰�मता इसम蒴� उ仿�तम है

Sandy soil / बलईु िम蠎Āी

Loamy soil / दमुट िम蠎Āी

Clayey soil / म㠜ृĀय मदृा

Mixture of sand and loam / रेत और दमुट का िमზ�ण

Correct Answer :­Clayey soil / म㠜ृĀय मदृा 

11)

Question Stimulus :­

In the given figure,  ODC ~  OBA,  BOC = 1250 and  CDO = 700.  Find  OAB.
/ दी गयी आकृित म蒴�,  ODC ~  OBA,  BOC = 1250 और  CDO = 700 तो  OAB 鐃Āात करो।



550

700

800

600

Correct Answer :­550 

12)

Question Stimulus :­

Shyamsunder has 5 factories A,B,C,D,E. The expense and income of all the factories is given in form of two pie charts as
follows. Depending upon the informaᜀ꼄on in the chart answer the following quesᜀ꼄on / ꁥĀामसुंदर के 5 कारखान蒴� ह।ै
A,B,C,D,E सभी कारखानो ंके खच檰� और आय दो पाई चाट檰� के �प म蒴� िदय ेगय ेह।ै चाट檰� म蒴� जानकारी के आधार पर
िनĀिल芤�खत �扤Ā का उᐣĀर द蒴�।

Total Expenses = 2,750 Cr. Rupees.

कुल खच檰� =2,750 करोड़ 䮠�

Total income = 3,450 Cr. Rupees

कुल आय = 3,450 करोड़ 䮠�

If arranged in descending order of profit in Rupees, the company at 2nd rank will be / अगर 䮠�पयो ंम蒴� लाभ को अवरोही
갠�म म蒴� ☠ကव芤�犴Āथत िकया जाए तो दूसरे 犴Āथान पर कौन सी कंपनी होगी?

A

B



C

D

Correct Answer :­A 

13)

Question Stimulus :­

If A = 30o, then sin22A + cos22A is _________ / यिद A = 30o, तब sin22A + cos22A
_________ ह|ै

3/4

1

1/4

Correct Answer :­1 

14)

Question Stimulus :­

Activated sludge process involves treatment of waste water with  / सि갠�य आपकं
�ि갠�या म蒴� भꛟु�शषे जल का उपचार िकसके साथ अतंिन檰�िहत है

Aerobic bacteria / वायवीय जीवाणु

Anaerobic bacteria / अवायवीय जीवाणु

Cyano bacteria / सायनो जीवाणु

Both aerobic and anaerobic bacteria / वायवीय और अवायवीय जीवाण ुदोनों

Correct Answer :­Aerobic bacteria / वायवीय जीवाण ु

15)

Question Stimulus :­

The force required to keep the object moving with the same speed is a measure of / व湯Ā ुको समान गित स ेसचंिलत
रखन ेके िलए आवꁥĀक बल का एक माप स湯ंĀर ह ै:

Sliding fricᜀ꼄on / सिप檰�ल घष檰�ण



Staᜀ꼄c fricᜀ꼄on / 犴Āथिैतक घष檰�ण

Rolling fricᜀ꼄on / ब䡚ेĀन घष檰�ण

Fluid fricᜀ꼄on / तरल घष檰�ण

Correct Answer :­Sliding fricᜀ꼄on / सिप檰�ल घष檰�ण 

16)

Question Stimulus :­

Tents made of black fabric is not used during summer at a camp site because / गिम檰�यो ंके दौरान कै芤�Āगं के 犴Āथान
पर काल ेकपड़ ेस ेबन ेट蒴�ट का �योग नही ंिकया जाता ह,ै 뛠�ोिंक

It reflects heat / यह ऊ幮Āा परावित檰�त करता है

It absorbs heat / यह ऊ幮Āा अवशोिषत करता है

It attracts dust / यह धलू आकिष檰�त करता है

It radiates heat / यह ऊ幮Āा िवक캣�रत करता है

Correct Answer :­It absorbs heat / यह ऊ幮Āा अवशोिषत करता ह ै

17)

Question Stimulus :­

Ramu was doing a project to find out the type of soil, best suited for growing plants. The soil collected from which
area might have proved best? / राम ूबढ़त ेपौधो ंके िलए सबस ेĀादा अनकुूल मदृा के �कारो ंको 鐃Āात करन ेकी एक
प캣�रयोजना कर रहा था। िकस 츰�⻊े� स ेमदृा का स᫅ं�ह िकया जाए िक वो सव檰�ზ�硬ेĀ िस氲Ā हो सके?

Soil from road side / सड़क के िकनारे की मदृा

Soil from a construction area / िनमा檰�ण 츰�⻊े� की मदृा

Soil from a bare mountain / अनावतृ पहाड़ो ंकी मदृा

Soil from an area with grass and trees / घास और पड़ेो ंके 츰�⻊े� वाली मदृा

Correct Answer :­Soil from an area with grass and trees / घास और पड़ेो ंके 츰�⻊े� वाली मदृा 

18)

Question Stimulus :­

The sequence in a food chain is represented as / एक खा堻Ā ზ�ृंखला का �ितिनध⊰က इनम蒴� स ेिकसस ेहोता ह?ै

Consumers    Producers   decomposers / उपभोꛟ�ा    उĀादक   



 अपघटक

Sun   Producers   decomposers    consumers / सयू檰�   उĀादक  
  अपघटक   उपभोꛟ�ा

Sun    Producers   herbivores   carnivores 
 decomposers / सयू檰�   उĀादक   शाकाहारी  मासंाहारी अपघटक

Producers    herbivores    carnivores / उĀादक   शाकाहारी   मासंाहारी

Correct Answer :­Sun    Producers   herbivores   carnivores 
 decomposers / सयू檰�   उĀादक   शाकाहारी  मासंाहारी अपघटक 

19)

Question Stimulus :­

If x = 4, find (32)­x  / यिद x = 4 तो (32)­x िनकािलये

1/220

220

1/29

29

Correct Answer :­1/220 

20)

Question Stimulus :­

Two cubes have their volumes in the raᜀ꼄o 8 : 27. The raᜀ꼄o of their surface areas is ____________. / दो घनो ंका आयतन
8 : 27 के अनपुात म蒴� ह।ै उनके प硬ृĀीय 츰�⻊े�फल का अनपुात ह ै____________

2 : 3

4 : 9

3 : 2

64 : 729

Correct Answer :­4 : 9 

21)

Question Stimulus :­



The electrode through which current enters the electrolyte is known as  / वह
इल盟ै�㪱�ोड िजसके 揠ကारा िवद्युत धारा िवद्युत अपघ少Ā म蒴� �वशे करती ह,ै कहा जाता है

anode / ऐनोड

cathode / कैथोड

diode / डायोड

emiᜀ䀅er / एिमटर

Correct Answer :­anode / ऐनोड 

22)

Question Stimulus :­

A sector whose area is equal to one‐fourth of the circle is called a / an ______ / वह अवखडं िजसका 츰�⻊े�फल वतृ का
चौथाई होता ह,ै __________ कहलाता ह।ै

semi circle / अध檰�वतृ

quadrant / वतृपाद (चतथुा犱�श)

Arc / चाप

Segment / खĀ

Correct Answer :­quadrant / वतृपाद (चतथुा犱�श) 

23)

Question Stimulus :­

Shyamsunder has 5 factories A,B,C,D,E. The expense and income of all the factories is given in form of two pie charts as
follows. Depending upon the informaᜀ꼄on in the chart answer the following quesᜀ꼄on / ꁥĀामसुंदर के 5 कारखान蒴� ह।ै
A,B,C,D,E सभी कारखानो ंके खच檰� और आय दो पाई चाट檰� के �प म蒴� िदय ेगय ेह।ै चाट檰� म蒴� जानकारी के आधार पर
िनĀिल芤�खत �扤Ā का उᐣĀर द蒴�।

Total Expenses = 2,750 Cr. Rupees.



कुल खच檰� =2,750 करोड़ 䮠�

Total income = 3,450 Cr. Rupees

कुल आय = 3,450 करोड़ 䮠�

Which company has the highest profit in terms of percentage? / कौन सी कंपनी को �ितशत के
मामल ेम蒴� सबस े耇Āादा लाभ �आ ह?ै

B

C

D

A

Correct Answer :­D 

24)

Question Stimulus :­

The ___________ number among the following is divisible by 7. / िनĀिल芤�खत म蒴� स ेस勫ं�ा __________ 7 से
िवभा耇Ā ह।ै

5,990

5,992

5,994

5,996

Correct Answer :­5,992 

25)

Question Stimulus :­

Identify the one which can exist in all the three states­solid, liquid, gas / िनĀ म蒴� स ेएक की पहचान कर蒴� जो सभी
तीन अव犴Āथाओ ंठोस, तरल, गसै म蒴� मौजदू हो सकता है

Helium / िहलीयम

Hydrogen / हाइड㪱�ोजन

Water / जल

Carbon dioxide / काबन檰� डाइऑ�ाइड



Correct Answer :­Water / जल 

26)

Question Stimulus :­

Find the area of a triangle formed by   A(5, 2), B(4, 7) and C(7, ­4). / िब슣Āदुओ ंA(5, 2), B(4,
7) और C(7, ­4) स ेबन ेि⻊�कोण का 츰�⻊े�फल 鐃Āात कीिजए

2 square units / 2 वग檰� इकाई

4 square units / 4 वग檰� इकाई

16 square units / 16  वग檰� इकाई

1 square unit / 1 वग檰� इकाई

Correct Answer :­2 square units / 2 वग檰� इकाई 

27)

Question Stimulus :­

The height of a pole is measured in / एक पोल की ऊंचाई को मापा जाता ह ैइसम蒴� :

Kilo metres / िकलो मीटर

Centi metres / स蒴�टी मीटर

Metres / मीटर

Nano metres / ननैो मीटर

Correct Answer :­Metres / मीटर 

28)

Question Stimulus :­

In which of the following states in India, a major earthquake has occurred aᤀᘅer the year 2000? / वष檰� 2000 के बाद
भारत के िनĀ म蒴� स ेिकस रा耇Ā म蒴� एक बड़ा भकूंप आया ह?ै

Karnataka / कना檰�टक

Gujarat / गजुरात

Maharashtra / महारा豩Ā㪱�

West Bengal / पि穢Āम बगंाल



Correct Answer :­Gujarat / गजुरात 

29)

Question Stimulus :­

Shyamsunder has 5 factories A,B,C,D,E. The expense and income of all the factories is given in form of two pie charts as
follows. Depending upon the informaᜀ꼄on in the chart answer the following quesᜀ꼄on / ꁥĀामसुंदर के 5 कारखान蒴� ह।ै
A,B,C,D,E सभी कारखानो ंके खच檰� और आय दो पाई चाट檰� के �प म蒴� िदय ेगय ेह।ै चाट檰� म蒴� जानकारी के आधार पर
िनĀिल芤�खत �扤Ā का उᐣĀर द蒴�।

Total Expenses = 2,750 Cr. Rupees.

कुल खच檰� =2,750 करोड़ 䮠�

Total income = 3,450 Cr. Rupees

कुल आय = 3,450 करोड़ 䮠�

If company A and E are merged to form company M, this new company will show profit / loss / कंपनी A और E कंपनी
M के �प म蒴� िवलय कर िदया जाए तो इस नई कंपनी लाभ / हािन िकतना होगा?

Profit 12.56 % / 12.56 % लाभ

loss 13.21% / 13.21 %हािन

Profit 15.42 % / 15.42 % लाभ

Profit 17.61 % / 17.61 % लाभ

Correct Answer :­Profit 15.42 % / 15.42 % लाभ 

30)

Question Stimulus :­

Which of the following will you use as electrolyte for electroplating a copper
spoon with silver?  / ताबं ेकी च鹔Āच को चादँी के साथ िवद्युत अपघटन करन ेके िलए िनĀ म蒴� स ेिकस ेिवद्युत
अपघ少Ā के �प म蒴� �यꛟु� कर蒴�ग?े

Copper sulphate soluᜀ꼄on / कॉपर सᑘĀट िवलयन



Silver nitrate soluᜀ꼄on / िस�र नाइट㪱�ट िवलयन

Ferric chloride soluᜀ꼄on / फे캣�रक 컠�ोराइड िवलयन

Dilute sulphuric acid / तनकुृत स㺭Ā�캣�रक अ칔Ā

Correct Answer :­Silver nitrate soluᜀ꼄on / िस�र नाइट㪱�ट िवलयन 


